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 Trend Task: Butterfly
 Station                                                   4
 Life cycles
 Set of stickers

The butterfly changes as it goes through its life. 
This is called its life cycle.

Commentary:

Only about a quarter of the year 4 students indicated that 
butterflies (like all insects) are classified as animals. There was 
little change in performance between 1999 and 2003.

1. Stick one picture in 
each circle to show 
the life cycle of a 
butterfly.

  Task: Blackberry
 One to one 4 & 8
 Form and function
 Picture

Show picture. 

Point to plant parts as 
each question is asked.

Here is a picture of a 
blackberry plant.

Each part of the plant 
has a job. 

I’m going to ask you 
about the parts of 
the plant.

Commentary:

About 30 percent more year 8 than year 4 students scored 
higher than 2, showing some understanding of the relationship 
between form and function for blackberry plants.

1. How does the stem help the plant stay alive?

                                             supports/holds up plant 30    32

                                                              carries water 43    51

                                                 carries nutrients/food 8     25

2. How do the leaves help the plant to stay alive?

                                                   help plant “breathe” 7     10

                                                                  make food 4      9

 Photosynthesis:  mentioned & explained 1      2

                                                               mentioned 1      5

3. How do the thorns help the plant stay alive?

                                                                protection 69    86

4. Why does the plant have flowers?

 Pollination:       attract insects to pollinate 5     19

                                             attract insects 4      5

5. Why does the plant have fruit?

                                                    fruit includes seeds 5     14

                         seeds from fruit grow into new plants 4     11

   form of seed leads to dispersion by animals and birds 1      6

Total score:                5–10 3     19

                                                                            3–4 22    36

                                                                            1–2 62    41

                                                                                0 13     4

                                       eggs follow butterfly 90 (88)

                                  caterpillar follows eggs 83 (77)

                               cocoon follows caterpillar 81 (73)

                                 butterfly follows cocoon 83 (74)

2. Tick all of the boxes that have 
the right answers:

  Butterflies are insects  ticked 89 (87)

  Butterflies lay eggs  ticked 88 (90)

  Butterflies are animals  ticked 26 (25)

  Butterflies are mammals  not ticked 74 (68)

  Butterflies are birds  not ticked 87 (87)

Total score: 8–9 52 (45)

 6–7 29 (29)

 4–5 15 (21)

 0–3 4 (5)


